Version B

Name:

a Match the statements to the bar models.
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6 bags of
8 sweets

6 bags of
6 sweets

8 bags of
8 sweets

e Complete the bar model to show 7 x 9

1 mark

1 mark

e Each bag contains 4 pears.
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Complete the fact family to represent the pears.

2 marks
o Work out the multiplications.
12 x9 =
1 mark
8x7=

1 mark

e Circle all the multiples of 6

18 26 66 106 126

2 marks
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o Teddy uses counters to make an array.

Part of the array is covered.

Write a multiplication shown by the array.

o A bag costs £12 and a mug costs £9

Miss Fisher spends £120 in total on bags and mugs.

She buys 7 bags.

How many mugs does she buy?

1 mark

2 marks

e The product of two numbers is 36
The sum of the two numbers is 13

Circle the two numbers.

1 mark

e What is the value of the triangle?

5x A =10x A

1 mark

@ A sticker book can fit 12 stickers on each page.
9 out of 16 pages of the book are full of stickers.

How many more stickers are needed to complete
the sticker book?

2 marks
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